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2007_Scan_11_FF.csv: amplitude 2007 _Scan_11_FF.csv: model
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2007_Scan_17_NF.csv: amplitude 2007 _Scan_17_NF.csv: model

: 'y : 0
0.24F - 0.24
105
— 0.22| S 022
-20 5
0.2| ] a0 0.2
0.18| ] 402 G018 -15
©
0.16} ] 508 §0.16
14} | 60 14
0.14| & 0
- @ 0 s 70

elative Pow!
Relative Power (dB)

Y angle (degrees)

-0.02 0 0.020.040.060.08 -0.02 0 0.020.04 0.06 0.08
X angle (degrees) X angle (degrees)
FWHM=0.028x0.028deg, X0=34.0, Y0=33.0, Xo(deg)=+0.03, Yo(deg)=+0.18
2007 _Scan_17_NF.csv: phase 2007 _Scan_17_NF.csv: residual
0.24¢ 150 0.24
o
0.22} 100 —~ — 0.22 2
(2] (%] —
(0} g G;)
0.2t 5 £ 5 02 3
o @ o
0o == T
0.18 o o 0.18 3
508 2 D
0.16 T © 0.16 L
-100 ~
0.14 0.14
-150
-0.02 0 0.020.040.060.08 -0.02 0 0.020.04 0.06 0.08

X angle (degrees) X angle (degrees)



2007_Scan_19_FF.csv: amplitude 2007 _Scan_19 FF.csv: model
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2007_Scan_19_NF.csv: amplitude 2007 _Scan_19 NF.csv: model
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2007_Scan_22_FF.csv: amplitude 2007 _Scan_22 FF.csv: model
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2008_Scan_17_FF.csv: amplitude 2008 Scan_17_FF.csv: model
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2008_Scan_17_NF.csv: amplitude 2008_Scan_17_NF.csv: model
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2008_Scan_20_NF.csv: amplitude 2008_Scan_20_NF.csv: model
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2008_Scan_4 NF.csv: amplitude 2008_Scan_4_ NF.csv: model
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NRAO_FE1_band9_2007-11_Scan_77_FF.csv: amplitude NRAO_

FE1 band9 2007-11_Scan_77_ FF.csv: model

10,5_ T r o 10 0
S g g
7 sb SN S
9 't__ k) qg) 9 g
2 | W 208 & <
z 0 % o 2 0 o
P ¥ Z o 2
g =10 60§ £ 3
: s o o
> 5f v 1 > -5
it e
Ll "N . -80
SR :
_qoER N T : R . -10
-10 -5 0 5 10 -10 -5 0 5 10

X angle (degrees)

X angle (degrees)

FWHM=3.549x3.748deg, X0=101.1, Y0=90.3, Xo(deg)=+0.06, Yo(deg)=—1.02

NRAO_FE1_band9 2007-11_Scan_77_FF.csv: phase NRAO_FE1_band9 2007-11_Scan_77_FF.csv: residual

10
)
EJ
R PR 5
o o 2
o 2 g
kEJ 2 0 <
(0] (]
Is) Es) 2
[ [
© © r.sr]:)
> > -5
A ;
J 10
-10 -5 0 5 10 -10 -5 0 5 10

X angle (degrees)

X angle (degrees)
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